3DPrintFreedom.com PRODUCT: NylAUG Hardware Kit

Bill of Materials I I VERSION: 1.2
3DPRINTFREEDOM
A" . 4

E Hardware Kit

Part # Name Description

Metals
O | Hw1 Oprod bushing 12mm OD, 11mm ID, brass
O HW2 Denial keystock 3/16” square, 12” long
O HW3 Receiver assembly threaded rods M3, 12” long 5
O | Hw4 Stock denial screws M3x8 flathead 4
O | Hws Handguard / top rail M3x16 flathead
O HW6 Top rail bolts M4x16 socket head
O | HW7 M3 Nylock nuts 20
O | Hw8 M3 nuts 20
O | Hwo M3 washers 12
O | Hw1o M4 nuts 1
O | Hw11 M4 washers

‘

HW12 Receiver heatsets M3 x4.5x5.8
HW13 Top rail heatsets M4 x 6.3 x 4.7 9

ojg

E Surplus Kit

Part # Name Description Qty
O | s1 Stock 1
O | s2 Trigger pack 1
O | s3 Bolt 1
O | s4 Gas block + foregrip Pressed 1
O | ss Buttpad 1
O | se Buttpad pin 1

[ 5.56 Barrel — 16” O Aluminum Trunnion

Important Notes:

e Some parts may require cutting to final length, fitting to your particular build, or other postprocessing

e  Some part sizes may vary from nominal. In all cases, we have verified this variation to be acceptable for this particular part and build.
e Insome cases, we may include extra quantity of parts for spares or backups

e  Follow all documentation for this design when building with this kit

Pack Date: Packed By:

Thank you for your business!



